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ol EX|H M ALY XIS

g Al A

SH-BH-SA(BH) - MBAL - B 0f) &+ o St HDS2
XA ot 6,298, 676 4,790, 698 1,507,978
AXY dAs A& 6, 287,996 4,781,698 1, 506, 298
EXNFEHAY K& 63, 050 50, 960 12,090
EXNEFMAY E4 63, 050 50, 960 12,090
201 LBH=EH| 28,050 21, 360 6, 690
01 At=2teldl 25, 050 21, 360 3,690
Oodgt==ZHl 10, 350
OF=3={x] 11,700
Oo=2g=+¥ 3,000
02 5524l 3,000 0 3,000
OXIHEZHl =Xl 3,000
202 o4l 30, 600 27,200 3,400
01 =LHOdHI 30, 600 27,200 3,400
OXAHHSF=A0HI 30, 600
203 B F Al 2,400 2,400 0
03 AIMFAH2=LH| 2,400 2,400 0
OXNHERFA 2,400
405 A+aHF SHI 2,000 0 2,000
01 ML ESSHSH 2,000 0 2,000
OFLE=1E Rl 2,000
sS49 ANXEE A8 1,486,216 1,728,552 N242, 336
i=A BR 70, 000 15, 000 55, 000
201 LBt=SEH| 70, 000 15,000 55, 000
01 Ats2teldl 70, 000 15, 000 55, 000
OM=2AY 88 30, 000
15, 000]
15, 000]
OMFAAMY EZ(XHH) 40, 000
ANHBHEHIAIY K& 50, 000 50, 000 0
308 AXIHHSOIE 50, 000 50, 000 0
01 TXSHBEXES 50, 000 50, 000 0
OXHZH AL 125, 000, 000 *40% = 50, 000
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2N - SSI(EH) - HRANY - BES Ak o St bl mE 2

[= 50, 000]
=Y HAEHS RPHAY XI#A 1,196, 667 1, 352, 000 A 155,333
403 RtXI 1,196, 667 1, 352, 000 A 155,333
1,196, 667 1, 352, 000 A 155,333

SEOHANY 2,393, 333, 0002 *50% = 1,196, 667

[= 718, 000]

= 478, 667]
INES dAb 212 10, 549 9, 052 1,497
1 10, 549 9, 052 1,497
10 JI2HMIZ2 10, 549 9, 052 1,497

CHMEY HA = 9, 802

= 303

= 165

= 104

= 175
T A 90, 000 90, 000 0
308 90, 000 90, 000 0
90, 000 90, 000 0

X& 300, 000, 000& *30% = 90, 000
g g # 62, 000 0 62, 000
2 62, 000 0 62, 000
62, 000 0 62, 000

1A 257

10, 000& *6, 20001 = 62, 000
Al 24 & 7,000 0 7, 000
3 7,000 0 7,000
7,000 0 7,000

OIMIEIE XI& 7,000

3,000, 000& 1Al = 3, 000

2,000, 000&*2Al = = 4, 000
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SH-FHH.G(8H) - HRANY - BHES 01l &F o St bl mE 2
NEEE J|IgR=H 26, 730 402, 186 A 375, 456
HMEDH Mits K& 26, 730 25, 947 783
308 AXIHMS0IH 26, 730 25,947 783
01 RXSMBIAESEZ 26, 730 25, 947 783
OHMEH Hats X2
45, 0002 x6H 222 *33| *5A| 2 *30% = 26, 730
N2l Jlet2= 4,712,000 2, 600, 000 2,112,000
S22 XotAIdE8 dS7E K& 4,212,000 2,600, 000 1,612,000
408 XX SHHSA=01H 4,212,000 2,600, 000 1,612,000
01 XXIHHMAELE X 4,212,000 2, 600, 000 1,612,000
O&Ez% XotAdEg *=X&
8, 100, 000, 000& *52% = 4,212,000
(= 4, 050, 000]
= 162, 000]
MET2IFEAAE 2= 500, 000 0 500, 000
207 A4 500, 000 0 500, 000
02 AR 500, 000 0 500, 000
OMERIel BEANAE =5 = 500, 000
HESAHUI(XIED) 10, 680 9, 000 1, 680
ol 2| 4,200 4, 200 0
ol 2| 4,200 4,200
203 LR F=&H| 4,200 4,200 0
04 BEA2IHRF=ZXUI 4,200 4, 200 0
OXI & Bt = 4,200
Jl23l 6, 480 4, 800 1,680
JIE2Z bl 6, 480 4, 800 1,680
201 LEt2g| 6, 480 4, 800 1,680
01 At=22t2ldl 6, 480 4, 800 1,680
Oget=ZH| = 6, 480




